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SEER (ha) 75K 456. 1 400. 7 856. 8
EERAS 456. 1 400. 7 856. 8
FeRAITEAR (AN) 56, 100 (4=1f7)
ISt T2 4T (SR 74, 500 (£ERCED)
gfiimnﬁ«$%gigs 41,300 200 )
HELEEA D (N) 21, 798 19, 252 41, 050
ARG K 5,994 5,294 11, 288
BEK 559 517 1,076
HYY)  THHEK 435 739 1,174
H Tk 1,305 1, 157 2, 462
2 8, 293 7,707 16, 000
ATETE K 7,956 7,027 14, 983
2 STV 746 689 1, 435
KR HERKR  THPEK 435 739 1,174
'/ ) K 1,305 1,157 2, 462
2t 10, 442 9,612 20, 054
ATETE 7K 11, 989 10, 589 22, 578
HEEIGK 1,128 1, 040 2,168
IRf ] e R T 8587k 870 1,478 2, 348
H Tk 1,305 1, 157 2, 462
2t 15, 292 14, 264 29, 556
I R Tl R AR A —
g?_% R 958 A 5T (mm/hr) 1=5, 400/ (t+40) —
it AP 0 Q=1/360-C-1-A C:ifiHRE A:THEIFE (ha)
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